
⇢ = 0.22 g/cc, T = 6000 K

<latexit sha1_base64="LpLSu7j5qz0YFwi+DopaQGllscU=">AAACHnicbZDLSgMxFIYz9VbrrerSTbAILqRmSr0hQtGN4KZCb9ApJZOmbWjmYnJGLEOfxI2v4saFIoIrfRvTy0JbDwR+/u8cTs7vhlJoIOTbSszNLywuJZdTK6tr6xvpza2KDiLFeJkFMlA1l2ouhc/LIEDyWqg49VzJq27vasir91xpEfgl6Ie84dGOL9qCUTBWM33kqG6ALzDJ5nLYOccO8AeIO4eMDQ6wcxfRFi4ZfEwIMXhMbwbNdIZkyajwrLAnIoMmVWymP51WwCKP+8Ak1bpukxAaMVUgmOSDlBNpHlLWox1eN9KnHteNeHTeAO8Zp4XbgTLPBzxyf0/E1NO677mm06PQ1dNsaP7H6hG0Txux8MMIuM/Gi9qRxBDgYVa4JRRnIPtGUKaE+StmXaooA5NoyoRgT588Kyq5rJ3Pnt3mM4XLSRxJtIN20T6y0QkqoGtURGXE0CN6Rq/ozXqyXqx362PcmrAmM9voT1lfP5cFnx4=</latexit>

⇢ = 0.50 g/cc, T = 6000 K

<latexit sha1_base64="7EegF7msaa53Md4GTLq0hpA31rE=">AAACHnicbZDLSgMxFIYz9VbrrerSTbAILqRmpPWCCEU3gpsKvUGnlEyatqGZi8kZsQx9Eje+ihsXigiu9G1MLwttPRD4+b9zODm/G0qhgZBvKzE3v7C4lFxOrayurW+kN7cqOogU42UWyEDVXKq5FD4vgwDJa6Hi1HMlr7q9qyGv3nOlReCXoB/yhkc7vmgLRsFYzXTeUd0AX2CSzRPsnGMH+APEnUPGBgfYuYtoC5cMPiZkiMf0ZtBMZ0iWjArPCnsiMmhSxWb602kFLPK4D0xSres2CaERUwWCST5IOZHmIWU92uF1I33qcd2IR+cN8J5xWrgdKPN8wCP390RMPa37nms6PQpdPc2G5n+sHkH7tBELP4yA+2y8qB1JDAEeZoVbQnEGsm8EZUqYv2LWpYoyMImmTAj29MmzonKUtXPZs9tcpnA5iSOJdtAu2kc2OkEFdI2KqIwYekTP6BW9WU/Wi/VufYxbE9ZkZhv9KevrB5i2nx8=</latexit>

⇢ = 1.00 g/cc, T = 6000 K

<latexit sha1_base64="B3C2v3s5Em4zMgIxm+RzZhS4VcM=">AAACHnicbVDLSgMxFM34rPU16tJNsAgupM5IfSFC0Y3gpkJf0BlKJk3b0MzD5I5Yhn6JG3/FjQtFBFf6N6btLLT1QOBwzj3c3ONFgiuwrG9jZnZufmExs5RdXlldWzc3NqsqjCVlFRqKUNY9opjgAasAB8HqkWTE9wSreb2roV+7Z1LxMChDP2KuTzoBb3NKQEtN88iR3RBfYDtvWdg5xw6wB0g6B5QO9rFzF5MWLmv72BrZY/dm0DRzlg4MgaeJnZIcSlFqmp9OK6SxzwKggijVsK0I3IRI4FSwQdaJFYsI7ZEOa2gaEJ8pNxmdN8C7Wmnhdij1CwCP1N+JhPhK9X1PT/oEumrSG4r/eY0Y2qduwoMoBhbQ8aJ2LDCEeNgVbnHJKIi+JoRKrv+KaZdIQkE3mtUl2JMnT5PqYd4u5M9uC7niZVpHBm2jHbSHbHSCiugalVAFUfSIntErejOejBfj3fgYj84YaWYL/YHx9QOR/J8b</latexit>


